

KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993

PROVOST P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:

Invoice To:

X0X 0X0 . AB

Branch \*REPRINT\* Date Page 04/14/25 22:20:30 (B) 01 Account No Phone No Inv No Ship Via Purchase Order Tax ID No Salesperson 218

### SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

754E 1H0X910XTN0820121 C016669 X9 1000 COMBINE 08/25/23

X9 1000 466 08/23/27 1250 X

GST# 895703353

SEGMENT# 1 C 502 01/16/25 03/26/25 NA

BRI INSPECTION

#### CORRECTION:

- -bring into shop, remove shields
- -blow off combine, covered and full of chaff
- -run up, had no fan speed due to fan belt being cut off on previous w/o
- -brought into shop
- -completed inspection
- -greased, and torqued tires

**TY6341** 

11.96 PARTS 2595.00 LABOR 16001000 SEGMENT TOTAL ==> 2606.96

04/04/25 04/09/25

ΝA

4.00 HRS CONTROL SYSTEM

GREASE

### **CORRECTION:**

SEGMENT# 2 C 502

- -installed software, couldn't do mtg, talked to other techs and they told me that you can't push it, John Deer pushes it periodically.
- -cleared codes

### ADDITIONAL DESCRIPTION:

- \*DIAGNOSE AND CLEAR ALL CODES ON DISPLAY (2)
- \*UPDATE CONTROLLER SOFTWARE (2)

LABOR 700.00 700.00 16001000 SEGMENT TOTAL ==>

CONTINUED ON PAGE 02

11.96

11.96

Signature:	



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST:
P.O. Box 299
3403 57 Ave
Provost, AB T0B 3S0
Phone: 780-753-2278

**WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	
Silip io:	

Invoice To:

. AB X0X 0X0

Branch					
Date	Time				Page
04/14/25	22:	20:30	(B)		02
Account No	Phone No	1		Inv N	10
Ship Via		Purchase	Order		
Tax ID No					
			Sales	sperso	n
				218	

### **SERVICE INVOICE**

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

C016669 X9 1000 COMBINE 754E 1H0X910XTN0820121 08/25/23

X9 1000 466 08/23/27 1250 X

SEGMENT# 3 C 502 NA 04/04/25 04/04/25

FEEDER HOUSE AREA

01/01/23 01/01/23

3.50 HRS

# CORRECTION:

- -replaced feeder drive chain
- -jumped conveyor chain back to straight
- -replaced bent slat on conveyor chain
- -replaced pro drive filter
- -freed up dual sprocket and lubricated the splines

### ADDITIONAL DESCRIPTION:

- \*REPLACE FEEDERHOUSE DRIVE CHAIN (.75)
- \*FREE UP FH DRIVE DOUBLE COUPLER (SIEZED TO SHAFT) (1
- \*REVERSER/HEADER DRIVE COAT WITH ANTI SIEZE
- \*CHANGE PRO DRIVE FILTER (.25)
- \*CONVEYER CHAINS JUMPED, NEED TO ADJUST CHAIN TO PROPER

TACE DIVISION	/11					

*REPLACE 1 BENT SLAT (.5					
AXE103407	Hydraulic Filte	1	126.03	126.03	
Hydraulio	c Filter				
AXE90399	Roller Chain	1	1002.68	1002.68	
EF4663	RECYC FEE LONG	2	1.00	2.00	
HXE113327	Slat	1	64.61	64.61	
RE577250	TRANS FILTER	1	130.82	130.82	
Hydraulio	c Filter				
14M7517	M10 NYLON LOCK	6	3.41	20.46	
19M7402	M10 X 25MM GR8	2	3.30	6.60	
			PARTS	1353.20	
			LABOR	612.50	
160010	00	SEGMENT	TOTAL==>	1965.70	

CONTINUED ON PAGE 03



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Shin To:		

Invoice To:

. AB X0X 0X0

Branch					
Date	Time				Page
04/14/25	22:	20:30	(B)		03
Account No	Phone No	)		Inv N	٧o
Ship Via		Purchase	e Order		,
Tax ID No					
			Sale	sperso	n
				218	

### **SERVICE INVOICE**

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

C016669 X9 1000 COMBINE 754E 1H0X910XTN0820121 08/25/23

X9 1000 466 08/23/27 1250 X

SEGMENT# 4 C 502 NA 04/04/25 04/08/25

FEED ACCELERATOR 4.00 HRS

**CORRECTION:** 

-remove 2 wings and clean out chaff packed in the feed accelerator

ADDITIONAL DESCRIPTION:

\*NEED TO CLEAN OUT - VIBRATION COMING FROM FEED

ACCELERATOR (4)

LABOR 700.00

16001000 SEGMENT TOTAL==> 700.00

SEGMENT# 5 C 502 NA

LEFT HAND SIDE

04/04/25 04/04/25

13.50 HRS

# CORRECTION:

- -installed concaves, zeroed and leveled
- -installed seperator grates, installed hardware for covers
- -tensioned elevator chain
- -replaced variable fan belt
- -replace hydraulic filters X4
- -replaced desiccant in camera and cleaned lenses
- -installed filler plates

### ADDITIONAL DESCRIPTION:

- \*INSTALL AND LEVEL AND ZERO CONCAVES (4)
- \*INSTALL CONCAVE COVER PLATES (1)
- \*INSTALL SEPERATOR GRATES (1)
- \*INSTALL SEPERATOR GRATE FILLER PLATES (1)
- \*TENSION ACTIVE TAILING AUGER (.5)
- \*STRAIGHTEN COUPLE CHAFFER LOUVERS BENT (1)
- \*INSTALL AND CALIBRATE CHAFFER & SEIVE (.5)
- \*TENSION TAILINGS ELEVATOR CHAIN (.75)

CONTINUED ON PAGE 04

Signature:		
Sidnati iro:		



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	

Invoice To:

. AB X0X 0X0

## **SERVICE INVOICE**

STK#/FLEET#		HRS PIN/EIN	WARRA	ANTY DATE	HRS	
·	COMBINE	754E 1H0X910XTN0		08/25/23		
X9 10	00	466		08/23/27	1250 X	
*REPLACE CLEANING	FAN VARIABLE	BELT (BROKEN) (1)				
*CHANGE HYDROSTAT	IC RETURN FILT	ER (.5)				
*CHANGE MAIN HYDR	AULIC RESERVOI	R FILTER (.5)				
*CHANGE MAIN ENGI	NE GEAR CASE O	IL FILTER (.5)				
*CHANGE HYDROSTAT	IC CHARGE FILT	ER (.5)				
*CLEAN CAMERA LEN	S & CHANGE DES	SICANT (.25)				
AXE73797		HYDRA FILTER	1	139.28	139.28	
Hy	draulic Filte	r				
AXE73798		HYDRAULIC FILTE	1	171.45	171.45	
ну	draulic Filte	r				
EF4663		RECYC FEE LONG	4	1.00	4.00	
HXE171894		V-Belt	1	251.17	251.17	
н123918		SPACER	4 S	9.23	36.92	
KXE10744		Desiccant	1	331.55	331.55	
RE577250		TRANS FILTER	1	130.82	130.82	
H.	draulic Filte					
RE577612		Filter Element	1	166.75	166.75	
03M7199	**************************************	M12X35 CARRIAG	2	3.74	7.48	
11M7030		COTTER PIN	2	1.52	3.04	
14M7299		M12 FLANGE NUT	1	4.19	4.19	
19M7786		M10X 30MM FLANG	4	3.82	15.28	
19M7807		M10 X 60MM FLAN	4	6.52	26.08	
24H1305		3/8 FLATWASHER	2	.47	.94	
				PARTS	1288.95	
				LABOR	2362.50	
	16001000		SEGMENT	TOTAL==>	3651.45	
SEGMENT# 6 C 502	NA	04/04/25 04/04/25				
RIGHT HAND SIDE				14.00	HRS	

RIGHT HAND SIDE CORRECTION:

14.00 HRS

CONTINUED ON PAGE 05

Signature.	Signature:	
------------	------------	--



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	
Silip i Ui	
-	

Invoice To:

. AB X0X 0X0

Branch					
Date	Time				Page
04/14/25	22:	20:30	(B)		05
Account No	Phone No	ı		Inv N	lo
Ship Via		Purchase (	Order		<u> </u>
Tax ID No					
			Sales	sperso	n
				218	

### **SERVICE INVOICE**

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS C016669 X9 1000 COMBINE 754E 1H0X910XTN0820121 08/25/23 X9 1000 466 08/23/27 1250 X

- -install concaves, zeroed and leveled
- -install separator grates, and hardware for filler plates
- -cleaned water seperator
- -adjusted tension on elevator chain
- -topped up final drives
- -adjusted tire pressure to proper pdi psi
- -replaced sampler auger boot
- -straighten interrupter bars on concaves
- -install filler plates

## ADDITIONAL DESCRIPTION:

- \*INSTALL AND LEVEL AND ZERO CONCAVES (4) vr
- \*TENSION CLEAN GRAIN ELEVATOR CHAIN (.75) vr
- \*REPLACE SAMPLER AUGER (HAS A TON OF PLAY) (.75) vr
- \*REMOVE MOISTURE SENSOR & CLEAN (.5)vr
- \*CLEAN WATER SEPERATOR (.5)vr
- \*CLEAN CAMERA LENS & CHANGE DESSICANT (.5) vr
- \*SMALL WIRE CONCAVE 1 BENT/CRACKED (1) vr
- \*INSTALL FILLER PLATES (1)
- \*INSTALL CONCAVE FILLER PLATES (1) dk
- \*INSTALL SEPERATOR GRATES (1)
- \*INSTALL SEPERATOR FILLER PLATES (1)
- \*TOP UP FINAL DRIVES (1)vr
- \*ADJUST TIRE PRESSURE REAR AT 40 (17PSI) FRONT 35 (26PSI)

(1) vr

-----

\*\*\*(FYI) - ETHER CAN 1/2 FULL\*\*\*

HXE16934 Bracket 1 139.26 139.26 2 S 18.46 H123918 SPACER 9.23 KXE10744 Desiccant 1 331.55 331.55 03M7185 1 1.01 M8 CARRIAGE BOL 1.01 CONTINUED ON PAGE 06



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST:
P.O. Box 299
3403 57 Ave
Provost, AB T0B 3S0
Phone: 780-753-2278

**WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	
onipio:	
•	

Invoice To:

. AB X0X 0X0

Branch					
Date	Time				Page
04/14/25	22:	20:30	(B)		06
Account No	Phone No			Inv N	10
Ship Via		Purchase	Order		
Tax ID No					
			Sales	sperso	n
				218	

4.00 HRS

### **SERVICE INVOICE**

STK#/FLEET#		HRS PIN/EIN	WARR	ANTY DATE	HRS
C016669	X9 1000 COMBINE	754E 1H0X910XTN08	320121	08/25/23	
	X9 1000	466		08/23/27	1250 X
11M7030		COTTER PIN	2	1.52	3.04
14M7298		M8 FLANGE NUT	1	2.22	2.22
19M7786		M10X 30MM FLANG	4	3.82	15.28
19M7807		M10 X 60MM FLAN	4	6.52	26.08
				PARTS	536.90
				LABOR	2450.00
	16001000		SEGMENT	TOTAL==>	2986.90

SEGMENT# 7 C 502

04/04/25 04/04/25

ENGINE CORRECTION:

-adjusted latter, had to lubricate the cable

NΑ

- -removed fuel filters
- -drained engine oil
- -replaced engine filter
- -replaced air filter
- -replace fuel tank vent
- -replaced hydraulic vent
- -replace hyd tank filter

## ADDITIONAL DESCRIPTION:

- \*ADJUST REAR LADDER VERY TIGHT UP AND DOWN (.75)
- \*CHANGE OUTTER ENGINE AIR FILTER AND CLEAN HOUSING (.5)
- \*CHANGE ENGINE OIL & FILTER (1)
- \*HYDRAULIC RESERVOIR SLIGHTLY LOW TOP UP (.25)
- \*CHANGE FUEL TANK VENT (.25)
- \*CHANGE FUEL FILTERS (1)
- \*CHANGE TRANSMISSION BREATHER (.25)

104.84 104.84 AXE82230 Breather 1 DZ124761 Filter Element 1 136.64 136.64 DZ124786 1 131.27 131.27 Filter Element CONTINUED ON PAGE 07

N: 4		
Signature:		



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST:
P.O. Box 299
3403 57 Ave
Provost, AB T0B 3S0
Phone: 780-753-2278

**WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To: X	
------------	--

Invoice To:

. AB X0X 0X0

Branch					
Date	Time				Page
04/14/25	22:	20:30	(B)		07
Account No	Phone No	ı		Inv N	lo .
Ship Via		Purchase	Order		
Tax ID No					
		•	Sale	sperso	n
				218	

### **SERVICE INVOICE**

STK#/FLEET#		HRS PIN/EIN	WARRA	ANTY DATE	HRS
C016669	X9 1000 COMBINE	754E 1H0X910XTN0	820121	08/25/23	
	X9 1000	466		08/23/27	1250 X
EF4662		RECYC FEE SHORT	1	.50	.50
EF4663		RECYC FEE LONG	4	1.00	4.00
EF4666		RECYC FEE OIL	3	2.00	6.00
HXE11090		OUTER AIR FILTE	1	386.50	386.50
н216169		BREATHER	1	34.20	34.20
RE572785		OIL FILTER	1	126.76	126.76
TY26675		15W40 PLUS 9.46	1 0	73.99	73.99
	Plus-50 II Oil	15W40 CJ4/SN			
TY26679		15W40 18.9L	3	137.49	412.47
	Plus-50 II Oil	15W40 CJ4/SN			
				PARTS	1417.17
				LABOR	700.00
	16001000		SEGMENT	TOTAL==>	2117.17

SEGMENT# 8 C 502

04/04/25 04/10/25

GRAIN TANK
CORRECTION:

install do not step sickers

-needed to clean sensors off before to stick

NA

ADDITIONAL DESCRIPTION:

\*CROSS AUGER TOP COVERS NEED 'DO NOT STEP' STICKERS (.25)

LABOR 43.75

.25 HRS

16001000 SEGMENT TOTAL==> 43.75

SEGMENT# 9 C 502 NA

04/04/25 04/04/25

CAB SECTION

1.25 HRS

CORRECTION:
-replace cab air filters

- -top up washer fluid
- -ordered brackets for rear view camera

CONTINUED ON PAGE 08

N: 4		
Signature:		



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To: X

Invoice To:

. AB X0X 0X0

### **SERVICE INVOICE**

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS C016669 X9 1000 COMBINE 754E 1H0X910XTN0820121 08/25/23 X9 1000 466 08/23/27 1250 X -stole camera and brakcets from x9 1000 820102. -reinstalled camera onto 820102 ADDITIONAL DESCRIPTION: \*CHANGE CAB AIR FILTERS (.25) \*TOP UP WASHER FLUID \*REPLACE BACK UP CAMERA (MISSING) (1) AXE70605 AIR FILTER 1 32.75 32.75 HXE148891 1 N 33.94 33.94 Bracket HXE168837 Bracket 1 N 53.72 53.72 1 725.59 TA19943 Television Came 725.59 Television Camera TA32591 Air Filter 101.90 101.90 5.06 14M7396 2 2.53 M8 NYLON FLANGE 2 14M7397 LOCK NUT 1.71 3.42 19M7862 2 .34 X 20MM FLANG .68 M6 957.06 PARTS LABOR 218.75 16001000 SEGMENT TOTAL ==> 1175.81

SEGMENT#10 C 502 NA BP15 HEADER SN# 04/04/25 04/10/25

### **CORRECTION:**

- -fill air bags
- -adjusted strippers to spec
- -adjust tire pressure

# ADDITIONAL DESCRIPTION:

- \*ADJUST FEED AUGER TUBE HEIGHT (.5)
- \*LUBE CROSS AUGER CHAIN (.25)
- \*ADJUST AUGER STRIPPERS (.5)
- \*ADJUST FLOOR STRIPPER (.5)

CONTINUED ON PAGE 09

2.25 HRS



**KILLAM:** 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	X
Snip 10:	X

Invoice To:

. AB X0X 0X0

Branch KILLAM Date Time Page 04/14/25 22:20:30 (B) 09 Account No Phone No Inv No Ship Via Purchase Order Tax ID No Salesperson 218

### **SERVICE INVOICE**

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

C016669 X9 1000 COMBINE 754E 1H0X910XTN0820121 08/25/23

X9 1000 466 08/23/27 1250 X

\*ADJUST REAR STRIPPER (.5)

\*ADJUST WHEEL PRESSURE (.5)

LABOR 393.75 16001000 SEGMENT TOTAL==> 393.75

DEGILINI TOTAL 333.73

SEGMENT#11 C 502 NA 04/04/25 04/11/25

RUN AND CHECK

**CORRECTION:** 

\*FILL AIR BAGS

run up

-adjust concaves

-install shields

ADDITIONAL DESCRIPTION:

RUN AND CHECK

LABOR 350.00

2.00 HRS

16001000 SEGMENT TOTAL==> 350.00

\*\*\*\*\* WORK ORDER TOTALS \*\*\*\*\*

INTERNAL CUSTOMER
PARTS 5565.24
LABOR 11126.25

SERV ACCESORIES 100.00 INTERNAL TOTAL 16791.49

Signature:	
olgilatare.	